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The value x =4 is a solution to all of the following equations except which?

(y 2(4)+7=15 (3) (¥)+5:=3(4) -3
(1) 2x+7=15 (3) x+5=3x-3 $+I=15 6= 12-3
ﬂ (6 =15 Grain
(2) 3(x+l)=x+l] A)x+12=5x=2 () 3 (4= (4N () D12 = ey -2
3ts) = 15 16 = 26-2 7
. i§ =15 Vv -
Which of the following is the solution to i4—3 =107 e Fly X
=3 -3
47 @5 5.1
e
(2) -1 (4) =5

x = 35 3

The@ofa number, n, and a number 5 larger than it is 41. Which of the following equations could be used

to solve Yor the number?
v {[e+ nz g numbhe-

+
(1) n+5n=41 (3) 5(n+1)=41 It n+62 4 number 5 lager
f';'\ﬁn n
(@ n+n+5=41 (4) Sn+n+1=41 W S . 2
Which of the following is nof an equation?
(1) 5(2x+1)=10x+5  (3) 5+3=10
r T
Q) 4x -1 (4) S+1=7 =
AN
Which of the following values of x solves 3(x—6)=18?
: A =1E =g
@x=12 (3) x=8 e
Ly s
2 (= =
(2).0=0 4) x=-06 3*13__‘9 \
a 3

x:!g-
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6. (Challenge!) If the expression — +b =¢ is solved for x in terms of a. b, and ¢. then x =
o

X o
ac —ab 1w—b == L
@ 2 (3)£ 2 “ T G 2
AL 22
b+c ab+¢ " Z = (C"]D)' @
(2) > 4) 2 P TI Y. = aC—a&b |
i 2xz wle-h) T E
2 =g

7. Jenna manipulated the equation 4x+7 =10 by adding —7 to both sides. Which of the following properties
justifies this manipulation?

(1) The associative property of addition.
@The addition property of equality.

(3) The commutative property of addition.
(4) The multiplication property of equality.

e

8. Jody's older brother is only three years less than twice Jody's age. If the sum of their ages is 30, then which of
the following is the age of Jody's brother?

1

— i i B
(1) 7 @19 let X2 Tedy's a5 s X+2%-3% 30
o . Ix=-3= 3¢
(2) 11 (4)23 let 2x-3= Jedy's dder i3 e3 3
L bremhes age =
Ax = 33
2(n)-3 3 3
22 -3 _
Free Response Questions: (4 x =1
9. Two correct first steps are shown for the same equation below. What property justifies each step?
Y} AN T : _
S(x-3)=20 5(x-3)=20 ! we d'J nps
5% —15=20 T3 d 71'25 disdr b ute here 3
TIms We o(:‘v !‘Je,ﬂ b o,
DIsSTRIRuTIVE LBl X=2) .20 hkes by s,
| —_— = Rirst]
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10. Two consecutive even integers have the following property. When the smaller integer is added to three times
the larger integer. the result is two less than five times the smaller integef. —=
Rafael tries to model this scenario with the equation show below. Unfortunately. Rafael has made an error on
the left side of the equation. Explain what error he made.
n+3n+2=5n-2 1et X = 5t (ensecutr Ve even mbege X+ 33(x+2)=z £« -2
Mite:
Babwe) v /’“—4’ At = 2"J£ngt"tu'f‘llv9 even |'n+e5e: T
2 .
h‘:n‘f\s AT used gﬂgv& /. R& Fagl (,(1.4! neo
w LARCER

7 Wee parintpes's ’
Write the correct equation (if you haven't already) and solve it to find the two consecutive even integers.

11. Algebraically, solve to find three consecutive odd integers that have a sum of 75.

e e e e

e+ A = '15 C(.V\gr,(m'\-\vf .{,JJ .‘n-}—ef“’.ﬁhh"‘“\\ qﬁ‘\

= wiph P o
le+ 9'~+1.- 1" (cnsecutive ¢dd vateger X +x+ 2 L{ =75
et *t4y = 3“1 (owmsecwtive edd r""f_"—“j er
X+ 6 =75
ze. Zb.
— 3% =64
23,25 27 = 3
ko= 25

12. Solve for p:

Sp=14=8p+4
r 14 |

5p=8pt+)3
=6p Xp
~32 T3



13. Solve for x:

AV A

~3(4x+3)+4{6x+ 1) =43

Q-2 ETF 3

28 -5 =3

£S5 45
2%z 4g
27 12|
X =y
14. Solve for x in terms of a.b. and ¢:
x’+c=a
25t
Rco’?\‘
X2~ a-c
15. Solve for x in terms of a.b. and ¢:
2x
——a=>
c
ta ta
B A VA
T lbrad-c ¢ - owb
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